
(α− α′)(α− β′)(β − α′)(β − β′) = [α2
− α(α′ + β′) + α′β′][β2

− β(α′ + β′) + α′β′] =

= [α2 + αp′ + q′][β2 + βp′ + q′] = α2β2 + αβ2p′ + β2q′ + α2βp′ + αβp′2 + βp′q + α2q′ + αp′q′ + q′2 =

= q2 + p′q[α+ β + p′] + p′q′[α+ β] + q′[α2 + β2] + q′2 = q2 + p′q[p′ − p]− pp′q′ + q′[p2 − 2q] + q′2 =

= q2 − 2qq′ + q′2 + p′q[p′ − p]− pq′[p′ − p] = [q − q′]2 + [p− p′][q′p− p′q].

(Sonnenfeld József, Budapest.)

E kifejezés még ily alakban is írható:
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(Jánosy Gyula, Budapest.)
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